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Introduction
It was noted in this report last year that candidates were well prepared for this option and

examiners were pleased to see that this was the case again this year. Candidates appeared to be

comfortable in dealing with a range of political, economic and social aspects of the period.

Candidates were well prepared for the question styles and there was clear understanding of the

demands of all questions. There was a notable improvement in the approach to the inference

question as well as an increasing number of candidates able to access the higher levels on the

interpretations questions.

The Modern World Depth Studies are designed to encourage candidates to understand the

complexity of a society within a short coherent period and the question styles reflect this. Section B

provides a single enquiry based on two interpretations and two contemporary sources with the

focus in this paper being Nazi policies towards women. The questions in this section form a

coherent package leading to a final question in which candidates, having explored the utility of the

provided sources, analyse the different views presented in the interpretations and the reasons for

those differences, and are then invited to judge the extent to which they agree with one of the

interpretations. Because of the specific focus in section B, the questions in section A are designed

to explore other areas of the specification which are not covered in B.

In Q1 candidates are asked to provide two supported inferences from source A. No marks were

available for candidates who either provided simple paraphrases of the source or ignored the

specific focus of the question.

In Q2, the focus will always be on causation but the question does not require a judgement to be

made or for the answer to prioritise or show interaction of factors and no marks were available to

reward this evaluation, however strongly argued. Instead, the most successful candidates showed a

consistent analytical focus throughout their answers and many were able to access level 4 by doing

so (when this was supported by relevant knowledge). In Q2 the stimulus points in the question will

often be useful reminders to candidates of specific areas of content which they can write about.

Candidates do not need to use these stimulus points but there is an expectation that there will be

some depth of knowledge, evidenced by three discrete aspects of content being covered (although

this does not mean candidates need to identify three different causes or events). The knowledge

displayed by candidates was often impressive and many were able to match this with good analysis

of the question.

All of the sub-questions in section B relate to either the two interpretations, sources B and C, or

both the sources and interpretations. Q3(a) targets the ability to analyse and evaluate source utility

and, in doing so, introduces the enquiry which will be dealt with in further detail in Q3(b), Q3(c) and

Q3(d).

In Q3(a) candidates are expected to evaluate the usefulness of the content, taking account of the

provenance of the sources and applying contextual knowledge in making judgements about the

utility of the sources as evidence for the specific enquiry in the question. These strands are linked

and should be dealt with together, rather than in isolation. There is no need to compare the two

sources and very few candidates attempted to do so this year.

Q3(b) and Q3(c) examine the views expressed in the two provided interpretations. It should be

recognised that the interpretations offer alternative views but do not necessarily conflict with each

other. Candidates are expected to identify the main difference between the views in 3(b) and use

the interpretations to support those claims. This question was generally well done and most

candidates who were able to show how the interpretations differed could also support their

answers with direct references to, or examples taken from the interpretations.
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The focus in Q3(c) is on why the interpretations might differ and this question was answered more

successfully than last year. It is not possible to provide effectively substantiated reasons why the

interpretations are different based on such things as where and when the interpretations were

published.

Q3(d) carries the highest number of marks on the paper. Successful candidates will have already

seen how the views in the interpretations are different, why this might be the case and, in

completing Q3(a) have understood that there is likely to be evidence in support of both

interpretations. They are now asked how far they agree with one of the interpretations. The

strongest answers to Q3(d), therefore, focused clearly on the interpretations themselves, reviewing

the alternative views and coming to a substantiated judgement. Candidates who focused

exclusively on the view provided in interpretation 2 and used this as a basis for an essay based on

their own knowledge were less successful than those who considered the alternative views from

both interpretations and the majority of candidates did focus on both this year. There is no

expectation that both interpretations are dealt with in equal depth but both should be examined

explicitly. The use of contextual knowledge is an important element in this evaluation but it must be

precisely selected to support the evaluation and most candidates were able to use their knowledge

to support their analysis. In addition, some of the strongest answers were able to show how the

differences of view in the two interpretations were conveyed in reaching their overall judgements.

Examiners reported some impressive answers to Q3(d) and many candidates were able to engage

confidently with the interpretations, taking a range of approaches. However, this question was

accessible to all candidates and even those who did not score highly understood the need to offer

evaluative responses leading to an overall conclusion. Only a few candidates were unable to

identify the view being offered by the interpretations, so the majority were able to construct a

response in relation to these views. Once again, candidates rarely seemed rushed and full answers

were generally provided showing that timing wasn’t generally an issue on this paper.

Sufficient space is provided in the exam papers for all questions to be answered in full and

although some candidates did write on extra sheets they were not always as successful as those

who produced more concise answers. It was noted last year that it is of vital importance that

candidates do not continue answers from one question in the space reserved for another and, if

they wish to write more than the booklet allows, they should clearly identify this on the paper and

ask for additional sheets. It is intended that the space provided is sufficient for the majority of the

candidates to be able to construct a fully rewardable response.

Spelling, punctuation and grammar were assessed on Q3(d) and the most impressive aspect of this

strand was again the use of specialist terms which perhaps reflects the detailed understanding

most candidates had of this depth study.

4     GCSE History 1HI0 31



Question 1 

In Q1 candidates were invited to make valid inferences about the early development of the Nazi

Party. There were two marks available for each inference; one for the inference itself and one for

the supporting information.

Most candidates seemed to understand how to make an inference, and most used the content of

the source to provide support. Such candidates tended to make inferences about the rate of

growth of the early Nazi Party or the reasons why it grew. Other candidates were able to make

inferences about the importance of Hitler in the early movement which could be supported from

the source. However, a small minority of candidates did give their own knowledge about the

influence of Hitler on the movement rather than making inferences from the presented source

which did not meet the question target. A small minority of candidates paraphrased the source and

this is not rewardable.

Candidates made appropriate use of the table provided for their answers.
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The candidate has given two inferences about the early development of the

Nazi Party with supporting details from the source.
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The first inference made by the candidate is valid and is supported from the

source. However, the second attempted inference is a paraphrase of the

source. This means that the candidate will only gain two marks.
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Question 2 

Candidates performed very well on this question and it was clearly based on a topic for which they

had been well prepared. Many candidates were able to explain why the concentration camps

helped the Nazis to create a police state through the detention of political opponents. However, a

sizeable minority of candidates saw the concentration camps as solely part of the Nazi’s racial

campaigns and often used this stimulus point for a lengthy description of the persecution of the

Jews and other minorities without specific focus on why the Nazis were able to establish a police

state. Knowledge of the law courts was more limited but many candidates showed sufficient

understanding of the removal of trial by jury and other reforms of the judiciary.

Examiners were pleased to note that many candidates were normally able to go beyond the

stimulus points in providing other relevant aspects of content which could be used to address the

question. Some candidates used knowledge of the Reichstag Fire Decrees and even the Enabling

Act to help explain why the Nazis were able to create a police state although some did use this on a

more generalised level to describe their increasing political power without specific reference to the

focus of the question. These candidates struggled to reach the top levels but those who could

explain why new powers gained by the Nazi government helped them to persecute and imprison

their opponents as part of the creation of a police state were more successful. Education, youth

policy and even Nazi policies on religion were used with varying degrees of success to explain why

the Nazi Party was able to create a police state.

Candidates did not need to provide a conclusion to show a sustained line of reasoning (and very

few did) and those who were most successful showed a sustained focus on the question in every

paragraph. Candidates are not expected to prioritise or link factors at level 4 and few attempted to

do so. In cases where candidates did prioritise factors, examiners were sometimes able to reward

some aspects of the candidate’s argument as showing a clear line of reasoning but it was not a

strategy that automatically gained levels 3 and 4.

At level 2, candidates often described the nature of Nazi control of society which left links to the

question too implicit to meet the AO2 focus on analysis. At level 3, candidates were mainly focused

on the conceptual focus of the question but sometimes lacked the wide-ranging knowledge

required at level 4. At level 4 there were many sustained analytical responses supported by well-

chosen examples which displayed clear understanding of the topic and these were often rewarded

with full marks.

Overall, it was clear that candidates were very familiar with this style of question and this topic.
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This candidate has directed an analytical explanation at the focus of the

question very consistently throughout the answer. This meets the criteria for

AO2 at level 4. The knowledge used to address the question is also sufficient

to meet the level 4 criteria for AO1 so the answer is a secure level 4.
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This response provides three aspects of content and some good knowledge

and understanding of the period. An explanation is given with implicit links to

the question but the line of reasoning is not sustained. This means that the

response meets the level 2 criteria securely.

Candidates should always refer to the question directly throughout their

answers in order to meet the criteria for levels 3 and 4.
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Question 3 (a) 

This was probably the question where candidates’ performance was most unbalanced and few

managed to display the analysis required to reach level 3. Although many answers consisted of

thoughtful comments about the content of the sources, there are three strands to the mark

scheme that all need to be addressed. Candidates need to approach the utility question bearing in

mind that judgements about utility should be based on the usefulness of the sources for the

specified enquiry, in this case Nazi policies about women. The best responses were those that were

able to address ‘how useful’ by establishing the strengths sources have as evidence before

determining how far the limitations affect their usefulness. It is important for candidates to

remember that judging utility may involve some comments about reliability but answers which

focus solely on this criterion do not fully consider the value of the sources as evidence.

Reliability can only ever be a small element of utility because an unreliable source can still be very

useful. It is also important that in judging utility, provenance is related to the content of the source.

For example, the fact that Joseph Goebbels was a senior member of the Nazi regime was used by

some candidates to dismiss his statements as being unreliable and therefore not useful. These

same candidates could not demonstrate which parts of the speech were not a reliable indication of

Nazi policy towards women. On the other hand, more successful candidates were able to show how

the provenance of the source increased its utility because some of the specific statements made in

the speech would allow the historian to gain a clear understanding of Nazi policy towards women.

It is disappointing to note that some otherwise well-prepared candidates were writing generic

responses commenting on the provenance of the sources. This part of the response is only likely to

gain marks at level 1 for this element of the mark scheme. Many candidates who offered otherwise

quite interesting analysis of the content and applied excellent subject knowledge to the

interpretation of the sources still had a tendency to fall back on simplistic judgements about

provenance. In particular, there were some generalised comments made about source C, stating

that it was useful because it was a snapshot of the time. Such comments were often made in

isolation from the analysis of the content and added nothing to the answer. More sophisticated

answers looked at the significance of such a photograph showing women working several years

into the Nazi regime.

Many answers made good use of contextual knowledge but a few well-prepared candidates spent

too much time talking about Nazi policies towards women, or the importance of Goebbels and

propaganda, without using that material to support reasoning about the sources’ utility, becoming

stuck in level 2 at best for many of their points. In addition, it is not possible to gain credit for simply

asserting that the candidate knows an aspect of the source to be true without using specific

knowledge to demonstrate this. It is also worth noting that simple comprehension – 'it states', 'it

shows' – based on the assumption that such information is useful, remains low level. Developed

statements about the usefulness of the content can reach level 2 but answers consisting solely of

such comments are unlikely to progress beyond mid-level 2, irrespective of the length of the

answer, because the other strands of the assessment objective have not been addressed.

In attempting to analyse utility some candidates have obviously been encouraged to describe what

is missing from the source and this led to some answers which could only be marked at level 1 for

this aspect of the mark scheme. Candidates should recognise that the sources were not written in

order to be used by historians and they cannot cover every detail that might be useful in an

investigation. It is possible to argue successfully that source C is useful for finding out about

employment in this type of industry but might not reflect the position in other sectors of the

economy. However, candidates who claimed that the source was not useful because it only shows

one factory could only be credited for making simple judgements about utility in level 1.
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The primary focus for all candidates should be to judge the utility of what is there rather than what

isn’t there. A pleasing majority of candidates did test the content of the sources against their own

knowledge to assess how useful they could be. For example, they applied their knowledge about

the changing requirements for women to fill employment shortages in the years leading up to the

Second World War. Many candidates were able to use examples of Nazi policies towards women,

such as rewards for multiple births, to demonstrate how the propaganda message appears to be

supported by other aspects of Nazi policy.

Answers reach level 3 by assessing the usefulness of the content in the light of the provenance and

the candidate’s own knowledge; the criteria used to make the judgement could be its accuracy or

reliability, the relevance of the source, the way it could be used by the historian, how representative

the source is etc. An evaluation of a source’s utility should be explicit about the criteria being used,

for example, an answer should be able to explain that while the language may be emotive, the facts

included can be supported from the candidate’s own knowledge so the source is very useful

despite any loaded language.

Although a judgement should be reached on the overall usefulness of each source, there is no

requirement to compare the sources or to use them in combination and no marks are available for

this.
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Valid criteria have been applied to judge source utility throughout the

response although some of the points made about provenance have not

been fully developed. When writing about source C there would need to be

more detailed analysis of the content for level 3. The candidate deals with

both sources at level 2 and the overall response meets the criteria for this

level securely.
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In dealing with source B this candidate has effectively linked the provenance

to the content of the source by showing how Goebbels is a useful source for

information about Nazi policy given his position in the regime. Details in the

source are analysed and contextual knowledge is used in the process of

interpreting the content and applying a judgement about utility. The

approach to source C is similar but the candidate does not deal as effectively

with applying criteria to the photograph for judging utility. However, this

response meets the criteria for level 3
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Question 3 (b) 

In this question candidates are expected to identify the main difference between the views

presented in interpretations 1 and 2. In this case, the interpretations provided different views about

Nazi policies towards women. In order to access level 2 marks, candidates were expected to

provide some support from the given interpretations, which many did, in the form of well-chosen,

short quotations.

It is important for candidates to remember that the focus of this question is to identify the

differences between the views rather than identifying differences of surface detail as the latter can

only be awarded marks in level 1. For example, in one interpretation it mentions that ‘more workers

were needed in agriculture’ but in the other interpretation ‘female doctors and civil servants were

sacked.’ However, most candidates were able to identify the differences of view and supported

these statements with details from the interpretations for level 2 marks.

It is important for candidates to gain a clear understanding of the different views presented in the

interpretations in order to support their answers to Q3(d) which are based around having a clear

understanding of the different views being presented.

This response identifies a key difference of view and supports it with direct

quotes from the interpretations so is awarded full marks
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This response identifies a key difference between the interpretations but

does not provide any support for the answer. This means that the answer is

awarded marks in level 1.

Use short quotes from both interpretations to support the difference being

identified in the answer.
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Question 3 (c) 

There was a much stronger understanding of the demands of this question this year and many

candidates were able to provide convincing explanations of why the interpretations may differ.

The majority of candidates gaining marks at level 2 explained that the historians might have relied

on different types of sources in forming their opinions and used sources B and C to support this

explanation. Other candidates were able to access level 2 by clearly explaining how, for example,

the authors had chosen to approach Nazi policies towards women from different perspectives. In

order to gain marks at level 2 it is also essential the explanation is substantiated effectively and this

might be based on information taken from either the sources or the interpretations themselves

depending on the approach taken.

In trying to give an explanation for a reason for difference between interpretations, some

candidates are still attempting to use the provenance of the interpretations to provide this

explanation and this is unlikely to provide a valid basis for a response to this question. The full

reasons for this are explained in the Getting Started Guide on pp 43-44: ‘Students should distinguish

between their comments on contemporary sources and on these texts. Responses based on

matters such as the origin or time of production of these secondary works are unlikely to be valid

for this question.’ However, it is very pleasing to note that many fewer candidates than last year

tried to provide explanations for difference on the basis of such factors as one interpretation

having come from a website and the other having been published in a book.

The candidate has identified a simple valid explanation in looking at the

different perspectives taken by the authors. However, the answer is not

substantiated effectively so is awarded a mark in level 1.
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This response explains a reason for difference and it is substantiated

effectively, in this case by using information from sources B and C.
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Question 3 (d) 

Examiners were very pleased to read many responses to this question which consisted of clear

attempts to evaluate the different views presented in the two interpretations. These answers were

well focused on the AO4 target for this question, namely the analysis and evaluation of

interpretations. The overall quality of a response to this question is determined by reference to the

three strands presented in the mark scheme:

the quality of the judgement based on reasoning;

the analysis of the provided material;

the deployment of knowledge of the historical context to support the application of criteria.

Although some candidates produced responses which were solely based on the consideration of

one interpretation (which limited the candidate’s performance particularly on the second strand),

most candidates were able to establish some form of discussion based on the different views which

they had established in Q3(b).

Many candidates produced responses which considered the view presented in interpretation 2 and

then contrasted it with the view given in interpretation 1 and this structure produced some good

responses. Some candidates looked to compare the different views directly and used both

interpretations throughout the response and this was often used to very good effect. At level 4,

candidates are expected to demonstrate precise analysis of the interpretations indicating how the

differences of view are conveyed. Candidates who successfully met this element of the mark

scheme could do so in a range of different ways but those candidates who examined the different

points of emphasis in the two interpretations were often able to make a very convincing case;

others were able to examine how the selection of information in the two interpretations influenced

the views presented. There is additional guidance provided in Getting Started pp43, 45 and 47-9.

Some candidates misinterpreted this question as asking about their own views on the morality of

Nazi policies towards women. This approach was unlikely to gain marks, except where other valid

points were made alongside this mistaken approach. However, the majority of candidates were

aware that they were engaged in the evaluation of two different views about Nazi policies towards

women.

The selection of contextual knowledge to support the evaluation was often a strong aspect of

candidates’ responses with most candidates showing a good awareness of how to deploy their

knowledge as well as being in possession of an appropriate level of detail. It was pleasing to note

that there were very few responses which focused primarily on providing contextual knowledge for

its own sake and that candidates showed an awareness of how to use their knowledge to help

them decide on the validity of views selected from the interpretations. In addition, most candidates

were able to provide full and structured responses with very few appearing to be rushed or running

out of time.

It is expected that candidates will reach a judgement when answering this question and the

strongest candidates developed their evaluation throughout the answer, creating a consistently

argued response. Less successful answers offered points to support the views expressed in

interpretation 2, then used interpretation 1 to challenge those views, before reaching the view that

interpretation 2 was ‘somewhat accurate’ or saying that they ‘partially agreed’ with the view.
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This candidate has made some valid evaluative points and selects details

from interpretation 2 with a brief reference to interpretation 1. Some

knowledge is included that is relevant to the evaluation. A judgement is given

with some justification. This response meets the criteria for level 2.
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This candidate has made some valid evaluative points and selects details

from interpretation 2 with a brief reference to interpretation 1. Some

knowledge is included and it is relevant to the evaluation. A judgement is

given with some justification. This means that the response meets the criteria

for level 4.
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Paper Summary
Based on their performance on this paper, candidates are offered the following advice:

In Q3(a) focus on using the provenance and contextual knowledge to evaluate the usefulness of

the content of the sources.

When analysing the reasons for the different views in the interpretations focus on their content –

candidates should not be concerned with the book title, date, the author or the type of

publication.

In Q3(d) candidates must review the alternative views in both interpretations as well as use

specific contextual knowledge to support the points made.

All the sub-questions in Q3 should be seen as part of the same enquiry with each question

guiding candidates towards the final analysis in Q3(d).
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Grade Boundaries
Grade boundaries for this, and all other papers, can be found on the website on this link:

http://www.edexcel.com/iwantto/Pages/grade-boundaries.aspx
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